e s - INCE
[ SINEES S A B C
1 HREEE SRR TR
a5
APSE T A PR R R A=1+2+..N C=A+B
rrders 34,530 59,726 2,554 62,280




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
62,280 31,434 93,714]  66.46




e s - INCE
= NS EIE T A B C
1 2 HREEE SRR TR
R B HE
APSE T A PR R R PEEEE | A=1+2+..N C=A+B
TR GE 25,903 18,568 44,471 2,473 46,944




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
13 46,957 22,442 69,399  67.64




OB T TRAAN(FE ~ Th) RIS (5 A\ 152
R INCE L A B C
1 B e ) P
[N TR
GhsA T 5 1) oh B 5 (R A=1+2+...N C=A+B
Wit sE 11,479 7,715 19,194 697 19,891




D E F G H
AR FHEE FHERTEEL BEER A\ LR
S (FHEE)

D=E-C E=C+D G=E+F =CIG
19,892 8,065 27,957] 7115




OB T TRAAN (FH ~ Th) 1858
[ INCER A B
1 2 3 BREEH S )
ek A 532 A
GhsA T 5 1) oh B 5 (R A=1+2+...N
HPE A 6,870 3,063 7,680 17,613 495




D E F G H
e A% FHEE FHERTEER BB | RER
=B (FHEEE)
C=A+B D=E-C E=C+D G=E+F H=CIG
18,108 18,108 6,748 24,856]  72.85




OB T TRAAN(FE ~ Th) RIS (5 A\ 152
R INCE L A B C
1 2 B e ) P
ZE TREIE
GhsA T 5 1) oh B 5 (R th K& | A=1+2+..N C=A+B
SR 16,095 20,742 36,837 2,021 38,858




D E F G H
AR FHEE FHERTEEL BEER A\ LR
S (FHEE)

D=E-C E=C+D G=E+F =CIG
38,860 15,514 54,374]  71.46




OB TTRAANGH ~ M) R B s NS EHE %
SHEEAGEEL A B C D
1 AR IR RS AR
PRIk =%
yalE Y]l IR R A=1+2+..N C=A+B D=E-C
B 20,266 20,266 3,668 23,934 0




%

E F G H
FHAE FHERTEE BB | REER
(FHHEE)
E=C+D G=E+F H=C/G
23,934 13,548 37,482]  63.85




B MTIAALGH ~ TH) RERIEEANGS
B NG ZIE A B C
1 2 AR EHSVERE I R
=y HER
SRR SE T L ) T EE R TEERSE | A=1+2+.N C=A+B
SRAT 5,396 6,523 11,919 343 12,262




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
12 12,274 3,589 15,863 77.3




OBFHT T RAAN(BE ~ Th) SR8 A\ 152
EYEINCE S A B C
1 2 B T 2R T2
R EEE
GISE T E t ER#E | A=1+2+..N C=A+B
LD 4,111 4,686 8,797 169 8,966




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
8,966 2,612 11578]  77.44




9B ITRAAN(H ~ ) R BER e,
S EINGENEY A B
1 2 3 ARUEH IR
BREEE ZEH TR
yalE Y]l PEJE R | A=1+2+..N
JLIE%D 1,350 2,224 2,351 5,925 146




D E F G H
e A% FHEE FHERTEER BB | RER
=B (FHEEE)
C=A+B D=E-C E=C+D G=E+F H=CIG
6,071 6,071 1,915 7,986]  76.02




OB T TRAAN(FE ~ Th) RIS (5 A\ 152
R INCE L A B C
1 2 B e ) P
Gl TR SUE A
GhsA T 5 1) rh ) B (R A=1+2+..N C=A+B
I 3,692 3,865 7,557 163 7,720




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
7,720 2,877 10,597  72.85




OBFHT T RAAN(BE ~ Th) SR8 A\ 152
P EINCES A B C
1 B T 2R T2
TLEEE
GISE T E R [ B A=1+2+..N C=A+B
EL 2,169 3,743 75 3,818




D E F G H
AR FHEE FHERTEEL BB | REER
S (FHEE)

D=E-C E=C+D G=E+F H=C/G
3,818 1,219 5,037 75.8




BFEHTTTIAAN (B ~ TR EEER(REE A G2

s NS EEE T A B C
1 - 2 B S ek ) gy
ERE B IR
GISE T E T B B R H R#E | A=1+2+..N C=A+B
Ayt 2,461 1,807 4,268 88 4,356




g%’(‘% X

D E F G H
EREAR HHEH FHERTEE 2PN R
COE (GEEER )

D=E-C E=C+D G=E+F H=C/G
4,356 1,567 5,923 73.54




)RR

BEHTTTHAAN A ~
A

SHEEAGEER B
1 2 3 ARUEH IR
FRH R EHEE 1% 2 F
galE Y]l IR R TEEIKE | PEEIRE | A=1+2+..N
LIS 1,025 1,100 779 2,904 50




D E F G H
e A% FHEE FHERTEER BB | RER
=B (FHEEE)
C=A+B D=E-C E=C+D G=E+F H=CIG
2,954 2,954 616 3,570  82.75




